FIT KIT

UPDATED
INSTRUCTIONS

C059

91CA0011 r10

COMPATIBILE PER - COMPATIBLE FOR - COMPATIBLE POUR
COMPATIBLE PARA - KOMPATIBEL FUR

BMW Serie 1 (E81, E87) 09/04 =08/11

BMW Serie 1 (E82) Coupé 2 09/07 =12/13

BMW Serie 3 (E46) Berlina, Compact, Coupé, Touring (no railing) 2-4-5 03/98 =08/06
BMW Serie 5 (E39) Berlina 4 09/95 =06/03

BMW Serie 5 (E39) Touring (no railing) 4 04/97 =03/04

Ford Mondeo 4 11/00 =04/07

Saab 9.3 Sportsedan 4 07/05 =06/12

Saab 9.3 Sporthatch (no railing) 5 07/02 =06/12

NCORDRIVE

TRANSPORT SOLUTIONS



@
G
D,
@
S,
D,
@D
&
GD)
@&D
@

Iniziare dal manuale [N+ / E&+l prima di
proseguire con queste istruzioni [d.

Before following these instructions C] please start
firstly the manual EN+E /E8+E4.

Avant de suivre ces instructions [, veuillez
commencer par le manuel EN+[Y 7 B4+l

Lesen Sie zuerst die Anleitung von EN+[/ E4+id
bevor Sie die folgende Anweisung weiterlesen [d.
Inicie desde el manual de EN+[]/ B4+ antes de
continuar con estas instrucciones [d.

Antes de sequir estas instrucdes [d, leia

o manual N+ B3+H1.

Voordat u deze instructies (4 volgt, dient u eerst de
handleiding EN+[E1/ Ed+lll te starten.

Innan ni féljer dessa instruktioner [d, vénligen las
manualen E\+EY/ B4+ .

Aloita [\+[E1 / Ed+Iloppaasta, ennen kuin jatkat
naiden ohjeiden noudattamista[d.

Enne nende juhiste [d jargimist alustage
koéigepealt EY+I] / E&+Rl kasutusjuhendit.

Pirms izpildat Sos noradijumus I4d. 1adzu, vispirms
saciet [N+[] / Ed+lrokasgramatu.

Prie$ pradedant sekti $ias instrukcijas [d, prasome
perskaityti vadova [N+ / B4+ .

NORDRIVE

[ ]

FIT KIT
- -

[ = | o | & |

POROEEOBREOE

NORDRIVE FITKIT C

NORDRIVE

Przed wykonaniem tych instrukcji (4 nalezy
najpierw zapoznac sie z instrukcja I+ / E4+Rd.
Mpexae yeM NPUCTYNUTb K BbINOHEHNIO 3TUX
nrctpykumi [d, naunure c pykosoactea LN+ / E4+A.
Nez budete pokracovat v téchto pokynech [d,
za¢néte od manualu [+ 7 E+.

Predtym ako budete postupovat podla navodu,
prosim precitajte navod [N+ / E4+hH.

Pred vykonanim tychto pokynov [® najskor
spustite prirucku [Y+E1/ B4+

Prije upotrebe ovih uputa [d, prvo pokrenite
priru¢nik E\+E1 /7 E4+RH.

MielStt kdvetné ezt az utasitast [d, olvassa el az
X+ /ER+Hd hasznalati utmutatojat.

Aapdote Tic 08nyiec Tou EY+E /Ed+i npotou
OaKOAOUBNOETE AUTEC TIC 08NYyiEC

Bu talimatlari uygulamadan énce [d, lttfen
oncelikle L3+ / E§+Hl kilavuzunu baslatin.
Mpean aa cneagate Te3n nHcTpykumn fd,
npoueteTe pbkosogcTsoTo Ha Y+ / Ed+hd .
Pre nego sto sledite ova uputstva [d, molimo vas
procitajte priru¢nik [3+E1/ B4+



364A
140A

317A
108A

316A
096A

=
- <
=
(1 5

@)

Contenuto - Content « Contenu « Inhalt - Contenido

313A
365A

)]

@)

6090

6080

NORDRIVE FITKIT C

6075
0001

6070
0611




\)

Montaggio - Fitting instructions - Montage - Montageanleitung - Montaje

COMPATIBILE PER - COMPATIBLE FOR - COMPATIBLE POUR - COMPATIBLE PARA - KOMPATIBEL FUR

SETTINGS

EVOS ST STANDARD EVOS LP Low PROFILE

ORIGINE RF rRoOF
aals
o> - Front Rear Front Rear

BMW Serie 1 (E81, E87) 35 09/04 =06/12 417 LS — L2
Sl e 1 (=32 ez 2 Loy e F 78cm R 74,5cm F 86cm R 82,5cm

X14 Y 12,5 X 22 Y 20,5
BMW Serie 3 (E46) Berlina 4 03/98 =-02/05

F 75cm R73,5cm F 83cm R81,5cm

X15 Y13 X 23 Y 21
BMW Serie 3 (E46) Compact 3 06/00 =»>12/05

F 76cm R 74cm F 84cm R 82cm

X115 Y 13,5 X 19,5 Y 21,5
BMW Serie 3 (E46) Coupé 2 04/99 =»08/06

F 72,5cm R74,5cm F 80,5cm R 82,5cm

. . X14 Y 10,5 X 22 Y 18,5
(Bn'\gvr\;ﬁﬁ:"; 3 (E46) Touring 5 09/99 =08/05
9 F 75cm R71,5cm F 83cm R 79,5cm

X 18,5 Y16 X 26,5 Y 24
BMW Serie 5 (E39) Berlina 4 09/95 =06/03

F 79,5cm R77cm F 87,5cm R 85cm

4 NORDRIVE FITKIT C



ol

BMW Serie 5 (E39) Touring
(no railing)

Ford Mondeo

Saab 9.3 Sportsedan

Saab 9.3 Sporthatch
(no railing)

-

alals

04/97 ==03/04

11/00 =>04/07

07/05 =»06/12

07/02=>06/12

SETTINGS

EVOS ST STANDARD

EVOS LP Low PROFILE

ORIGINE RF roOF
Front Rear

X185 Y14

F 79,5cm R75cm

X 19,5 Y 17,5

F 80,5cm R78,5cm

X 25,5 Y22

F 86,5cm R 83cm

X 20 Y115

F81cm R72,5cm

Front

X 26,5

F 87,5cm

X275

F 88,5cm

X335

F 94,5cm

X28

F 89cm

NORDRIVE FITKIT C

Rear

Y 22
R83cm
Y 25,5

R 86,5cm
Y 30

R91cm

Y 19,5

R 80,5cm



B60QHE0DE @OOC

NORDRIVE

Passare al manuale [}+[] / K4+l e sequire

le istruzioni come indicato ad intestazione pagina.
Switch to manual EX+E1/ B4+l and then follow the
instructions as indicated above.

Passez au manuel EN+[] / Ed+Hlet suivez

les instructions comme indiqué ci-dessus.

Das Handbuch EN+EY/E&+Hd konsultieren und die
Anleitungen wie angegeben auf Kopfzeile der

Seite folgen.

Vaya al manual de [N+ /E&+ly siga las instrucciones
que se indican en el encabezado de la pagina.

Passe para o manual m+|3/m+e siga as instru¢oes
indicadas acima.

Schakel over op manuele ﬂ+|3 / m+ en volg dan de
instructies zoals hierboven aangegeven.

Byt till manual EN+] / E&+id och folj

dar instruktionerna enligt ovan.

Vaihda manuaaliseen [N+ / K&+l -sarjaan

ja noudata sitten ylla olevia ohjeita.

Avage [N+[E1/ E&+Edjuhend ja jirgige ilal

toodud juhiseid.

Parsledzieties uz manualo E¥+[] /E&+Il un péc tam
izpildiet noradijumus, k& noradits ieprieks.

Pereikite j vadova EY+[ / E&+illir tuomet sekite
instrukciias. kaib nurodvta auksciau.

POREOEEOEREE

NORDRIVE FITKIT C

NGRDRIVE

T

Przetacz na reczny EN+H[A / Ed+il, a nastepnie postepuj
zgodnie z instrukcjami, jak wskazano powyzej.
Nepeiiaute k pykosoacTsy no [N+ / Ed+Hll v cnenyiite
WHCTPYKLMAM, YKa3aHHbIM B 3arofIoBKe CTpaHuULUbl.
Prejdéte do prirucky EN+[] /Ed+ll a postupuijte podle
pokyn( uvedenych v zahlavi stranky.

Prejdite na navod [N+ / E§+Rll a postupuijte podla
pokynov uvedenych vyssie.

Zamenjajte na navodila [3+[/

in potem jim sledite kot je navedeno zgoraj.

Prebacite se na priru¢nik B/ B+ i zatim slijedite gore
navedene upute.

Valtson at az [¥+[] / Ed+Ell hasznalati tmutatéjara és
kovesse a fenti utasitasokat.

Metapeite oto puAGSio Tou EN+EY / B+l kat katémy
akohouBnote Tic odnyieg mou @aivovtal mapamdvw.

Manuel EN+[E1/ E&+l 'ye gecin ve ardindan yukarida
belirtilen talimatlar izleyin.

MpemuHeTe kbM pbrosactsoto EH+E / K4+

W Cnep, ToBa crefBaliTe UHCTPYKLMMUTE No-Tope.

Predite na priru¢nik BN+ /Ed+Hl v cnen toBa a zatim
sledite gore navedena uputstva.



NORDRIVE FITKIT C



BMW Serie 3 (E46)

BMW Serie 5

Ford Mondeo BMW Serie 1
Saab Sportsedan Saab Sporthatch

BMW Serie 3 (E46 Berlina,
compact, coupeé)
BMW Serie 5 (E39 Berlina)

316A

BMW Serie 1
Saab Sporthatch

BMW Serie 3 (E46)
BMW Serie 5
Ford Mondeo

Saab Sportsedan

BMW Serie 3 (E46 Berlina,
compact, coupe)
BMW Serie 5 (E39 Berlina)

317A

BMW Serie 3 (E46 Touring no railing)
BMW Serie 5 (E39 Touring no railing)

Ford Mondeo
Saab 9.3 Sporthatch

313A

BMW Serie 3 (E46 Touring no railing)
BMW Serie 5 (E39 Touring no railing
Ford Mondeo
Saab 9.3 Sporthatch

313A

NORDRIVE FITKIT C



\

o




BMW

Ford Mondeo

Saab 9.3

BMW

Saab 9.3

Ford Mondeo

NORDRIVE FITKIT C

10



{} BMW Serie 1
BMW Serie 3
BMW Serie 5

6070 M6x70

min Ford Mondeo
3 Nm ~—> Saab 9.3 Sportsedan

6080 M6x80

Saab 9.3 Sporthatch
6075 M6x75

BMW Serie 1
BMW Serie 3 (E46)
BMW Serie 5

6070 M6x70

Ford Mondeo

6080 M6x80

Saab 9.3 Sportsedan

6090 M6x90

Saab 9.3 Sporthatch
6075 M6x75

0611
@ 5:r:0001

NORDRIVE FITKIT C 11



NORDRIVE

Passare al manuale [}+[] / K4+l e sequire

le istruzioni come indicato ad intestazione pagina.
Switch to manual E\+E1/ B4+l and then follow the
instructions as indicated above.

Passez au manuel EN+[] / Ed+Hlet suivez

les instructions comme indiqué ci-dessus.

Das Handbuch EN+EY/E&+Hd konsultieren und die
Anleitungen wie angegeben auf Kopfzeile der

Seite folgen.

Vaya al manual de [N+ / B3+ y siga las instrucciones
que se indican en el encabezado de la pagina.

Passe para o manual m+|3/m+e siga as instru¢oes
indicadas acima.

Schakel over op manuele ﬂ+|3 / m+ en volg dan de
instructies zoals hierboven aangegeven.

Byt till manual EN+E] / Ed+id och f6l]

dar instruktionerna enligt ovan.

Vaihda manuaaliseen [N+ / K&+l -sarjaan

ja noudata sitten ylla olevia ohjeita.

Avage [N+[E1/ E&+Edjuhend ja jirgige ilal

toodud juhiseid.

Parsledzieties uz manualo LY+ /E&+Il un péc tam
izpildiet noradijumus, ka noradits ieprieks.

B0 HELDE @OOC

Pereikite j vadova EY+[ / E&+illir tuomet sekite
instrukciias. kaib nurodvta auksciau.

-

(D Lotto di produzione da comunicare per eventuali ricambi

&N Production lot number to be communicated for any spare parts
(® Lot de production a communiquer pour toute piéce de rechange
(@ Produktionscharge fiir eventuelle Ersatzteile

(®) Lote de produccién a comunicar por cualquier repuesto

Lot.
\_

~

POROEEOEREE

NGRDRIVE

anj 7.

Przetacz na reczny EN+H[ / B+, a nastepnie postepuj
zgodnie z instrukcjami, jak wskazano powyzej.
Nepeiiaute k pykosoactsy no [N+ / Ed+Rll v cnenyiite
VHCTPYKLMAM, YKa3aHHbIM B 3arofl0BKe CTPaHULb.
Prejdéte do prirucky I+ /Ed+ll a postupuijte podle
pokyn(l uvedenych v zahlavi stranky.

Prejdite na navod [N+ / E§+Rll a postupuijte podla
pokynov uvedenych vyssie.

Zamenjajte na navodila [3+[ /

in potem jim sledite kot je navedeno zgoraj.

Prebacite se na priru¢nik BB/ B+ i zatim slijedite gore
navedene upute.

Valtson at az [¥+[] / Ed+Ell hasznalati utmutatéjara és
kovesse a fenti utasitasokat.

Metapeite oto puAGdio Tou EN+EY / B+l kot katémy
akohouBnote Tic 0dnyieg mou @aivovtal mapamndvw.
Manuel EN+[E1/ E&+ll 'ye gecin ve ardindan yukarida
belirtilen talimatlar izleyin.

MpemuHeTe kbM pbrosactsoto EH+E / K4+

W cref ToBa CnefBaiTe MHCTPYKLMKTE No-Fope.

Predite na priru¢nik BN+ /Ed+Hl v cnen toBa a zatim
sledite gore navedena uputstva.

NCRDRIVE

TRANSPORT SOLUTIONS
NORDRIVE?® is a registered trademark of
LAMPAS.p.A.

Via G. Rossa 53/55, 46019 Viadana (MN) ITALY
Tel. +39 0375 820700
UNIEN ISO 9001 /1SO 14001 /1SO 45001
Certified Company
service@lampa.it
www.nordrive.it www.lampa.it



